CLASS 7 MID TERM 3 DECEMBER 2021

MATHEMATICS
What is six million six hundred and six 9. In the figure below line AB is parallel to line
thousand and six in symbols? ‘ CD and line SMis atransversal. '
A. 6606066 B. 60606006 iy
C. 6606006 D. 6066006
Whatis the place value of digit 8 in 457897
A.Tens , " B.Hundreds ..
C. Thousands D. Tenths ‘
Round 0ff999.8871 to the nearest hundredths
A.999.880" B. 1000 '
C.999.89 D.999.88 What is the size of angle Y?
Whatis /225 + 257 | ‘ A70° B.110°
A.640 B.610 , 4 C.60° D.105°
C.650 ! D.20 10. © Whatis 12%% asa fraction in the simplest
Find the sum ofthe G.C.D. and L.C.M. of 12, - form?
18and24. ~ e e G B 1
A60 B.72 e ) 2 ;
C.78 ~ D.54 o ot D. 22
- 100 200
How many thousands are there in the value of. Jeowmim . )
digit3 in the number 3490607 o 1 11 ) What is the value of sand t in the magic
A.30000 B. 3000 squarebelow?
C.30 D.300 5 6 1
Whatis the value of - 10 n
- 2(2uly :
4 3 8 2
: ' ) s t
A.1é B.l% Al2 13
B.30 13
c. D.0 ' @13 12
48 ' ' D.13 30
' How maﬁy dayswere there between 12.  Wambuascored the following marks in all his
6" January and 15" March 20207 five subjects: 74,72, 64, 58, 72. What was his
A67 B. 69 MRS
C.70 ' : D 63 A.340 B.68
C.66 D.72
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13.

14.

15.

16.

17.

18.
19.

20.

The perimeter of arectangular field is 28m. If
one side of the rectangle is 8m, what is the

- areaofthe field?
A.48m’ B.96m’
C.72m’ D.28m’

Jessicaboughta watchat shs. 2500. She sold
it for shs. 3525. What was her percentage

profit? .
A.21% B.29%
C.51% D.41%

‘Wamani went round the circular field below
twice. What distance did she cover?
(Taken = 272) A

A.132m B.432m

C.66m D.264m

What is the smallest number that can be
formed using the digits. 2,3, 8. 5,07
A.02358 B.20358
C.20583 D. 85320

What is the sum of all the prime numbers
between 50 and 607

A.169 B.226
Fehi) - D.275
Work out 096x84
A28 12X24 pogo
C.0.96 D.0.28
Find the compliment of 26’.
A.154° B. 64
C.126° D. 164°

Which statement is false about the figure
below?

[

.-

A. Opposite sides are equal.

B. Diagonals are equal.
C.Diagonals meet atright angle.
D. Ithas two pairs of parallel lines.

21.

22.

23.

24,

25.

26.

27.

Mohammed is t years old. His sister is two
years older. What will be the sum of their ages

in2 yearstime? o
A.2t+2 B:2t+6
. C.2t+4 D.2t+8

Simplify the expressionbelow.

" 4(2m-+n)+2(m-n)
A.10m+6n - B.10m-6n
C. 10m+2n D.10m-2n
Find the area of the unshaded part.

1 48m
64m
A.1535m’ B.768m’
C.2464m’ D. 896m’

Mutahi lefthome at 204 5hrs and came back
after 4hours 20mins. At what time did he come
back in 12 hours clock system? »

© A.2505hrs B.1.05a.m.
- C.1.05p.m. D.2.05a.m.
Work out: 8m-6<2m+12
"A.m<3 B.m>3 .~
C.m<2 D.m>2

Find the size of the largest angle in the figure
below.

A T2 B.62’

C.31° - D.46’

Wanyama bought sugar weighing 36kg. He
packed only 16kginto % packets and the rest
into %kg packets. How many packets did he
obtain?
A.104
C.96

Y

B. 144
D.14
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28.

29.

30.

31.

32.

33.

- 34,

. 35.

Work out: 5[T6km 120m 80cm

A.3km 24m 16cm B.3km 22m Q0cm

C.3km 224m 16cm D.3km 22m 15cm

Yumina travelled a distance of 180km bya

matatu. If this was 30% of the journey, how

long was her journey?
A.540km B. 720k
C.600km D.420km

Which number do I multiply 10.387 withto
makeit1038.77 :

A.10 B. 1000
C.100 D. 10000
What is 36072 divide by 97
A. 4008 B.48
C.408 D. 40008

Find the value of angle marked K in the

diagram below.

45/
A.70° B. 80’
C.155° D.65°

; o]
Mwariama’s home is 3 kmfrom her school. If

110\

she goes to school and comes back in the

evening what distance does she coverina

week?
A.Tkm . B.35km
C.49%m D.28km
Whatis the value of @ 7whenp=2,
r=3andt=4 j ek
A2 B. 1L
24 ‘ 24
C. 2% - D. 1%

Threebells ring at intervals of 10 minutes, -
25 minutes and 40 minutes respectively. If
they rung together at 7.30a.m., at what time
will they ring together again?

A.10.50am. B.8.15a.m.
C.8.45a.m. D.11.10a.m.

36.

37.

38.

39. -

40.

41.

42,

A 10.7cm

Workout: 160-6x20+80+16
A.45
C.197.5

B.45
- D.35

‘Whatis % correct to 3 decimal places?

A.0.142 " .B.0.143
C.0.1429 . D.0.140
Increase 2000kg by 20%.
A.2200kg ,B. 1600kg
;C.2400kg D.2650kg
Work out: 9 _31 ;
.1 3 ”
A 6= B.6=

3 3
c. st . D.52

3 : 3

Constructa triafigle X'YZ such that side

- YZ=6.8cm, angle YZX=55"and YXZ=40".

What is the length of side XZ?
B.11.0cm
D.7.3cm

The pie chart below represents the population

C.9%:1cm

0f 4800 people in alocation. -

oé{ “ Men
. “ &

Howmany more women than youths are in

the loca‘ion?

A.600 B. 1200

C. 1800 D.2400

Awhee has aradius of 35cm. How many

kilomctres will it cover after making 4000

rotations?
A.8.8km B.88km -
D.0.88km

C. 880km

Y
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43.  Mwaniabought the following items: 48.  Thefigurebelowisacuboid.
3 packets of maize flour at shs. 90 each.
2kg of beans for shs. 170.00

30cm -
1'/ kg of onions @ shs. 40.00
2 packets of milk @ shs. 34.00 1 — §em
" Ifhe paid with shs. 800, how much money -
washe gj\;en as balance? 0.8m
A.shs. 62 B.shs.232 o o
Find halfits volume in cubi¢ centimetres.
. C.shs.466 - D.shs. 568 , s
44. The table below shows the charges for 2% 1AAD00em B.7200cm
_ sending money by use of money orders. C. 1'4.4crn3 D.72000cn’
49. - Theareaofarightangled trianglebelow is

Value of order Commission 48ares. ©
Upto 500 ’ shs. 89.00
501-1000 shs. 144.00
1001 -2500 she: 195,007 n| oYL X
2501 - 5000 shs. 265.00 e geerfertmpen
5001 - 14000 shs.420.00 - |
10001 - 15000 shs.490.00 |}

120m

S " Ifthebaseis 120m, find the length of the
Karuiru sent two money orders. One to his ; ,

daughter worth shs. 10,500 and another to his rneeeigight

son worth shs. 4700. How much did he pa ol A48m B.40m
altogether as the commission? C.80m D. 60m
A.shs. 15955 B.shs. 755 50.  The graphbelow shows the number of books

C.shs. 685 D. shs. 15885

sold in a bookshop every day ina week.
45.  Theareaofasquarematis 5 L ;2. Whatis ~

100 EERazaRa
its perimeter? - EESasass:
’ . . 7
Azlm 8 B 911.},1 80 7. w 5 }e’tj
4 4 77 i}” A
C. 4lm D.9m 60 [ ,E;/ ' 'U H
2 . i
46.  Whatisthenext number inthe pattern 40 727 , '/ 707
5,7,10, 15,22,—_‘7 C o 99%% / o 209755 %
: 497 A / 7 2547 7
. 20f Iiaith e e
) A33 B29 22522 /Y $7557 2 7 /; 99 7 7995 /
- c3l D35 .. Z
47, What is the smallest number that canbe . Monday ~ Tuesday -Wednesday Thursday Friday
| added to 89157 to make it divisible by 117 How many more books were sold on Tuesday
A2 B3 than on Friday? '
C.3 - D.9 . A9 B.95

-C.60 D.30
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